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Problem quickname: 4896

)

Calculate the result by splitting the second number. Fill in the missing numbers.

) 3THT 3T b)64+8 64— T
OTA+9 T4 T d) 558 55— —
&) 5249 52— T N45+8 45— T
Q) 74—-9 T4 — @ — h) 61 —5: 61 —  ——
D15+8 15— 5845 58
2)

Calculate the result by splitting the second number. Fill in the missing numbers.
a) 7845 T8 T b)434+9: 43—~ T
)68+ 8 68— d) 56 +6: 56—
) 5+8 5 Ho+o 2 T

§) 646 T6 s B 1745 17 ——
NT3I+s T3 Dl4t+s 14— T

3)

Calculate the result by splitting the second number. Fill in the missing numbers.

a) 74 —8: T4 S S b) 46 — 8 46 — S
€)33-8 33— @ —— d) 86 —9: 86 — ——
)56 —7: 56 — @ —— f)38—9: 38 — ——
g) 86 —8 8 —— @ —— h) 16 -8 16 —  ——

~

)34 -5 34— i)41 —4: 41 —

~

4)

Calculate the result by splitting the second number. Fill in the missing numbers.

_|_

~

a) 46 1+ 8 46— b)yS4—5 84—
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)34 -7 34— , d) 67 +4: 67—

e) 67 — 8 67 — S )76 -8 76— ——
£ 256 25— h) 65+ 7 65—
N23+9 23— T H56-9 56—
Good Luck!
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